@ 23+x)-2x=0
@ x2-2x4+1=x>+x-1

® —x+3=-x+5

@ 3x-4=4+3x

@ 3 =2+ 2x2



© 2x-1=x+4

® 3x+1=3(x-1)




® 5x+2



® ?+3x=1

® 3x+5=8-x




@ x2=2x+4

D 2x-2=3+2x

® gx:x—l—S

® 3(x-2)

3x—6



@ x=x-2

D x+1=1

1

@ 2x-3

2—-2x

@ 2(x-1)

® x(x+1)=-2x+1



7. OE AT EATAEAA AL
@ 3x+6-3x @ x*+1=-x
® 2x-1=3(x-1)-x @ x+x*+3=x

® x+x2+1=x



the 3 AR Aol obd 2

o

BT 2H?
® ala+3)=2+3a @ 2x(x+3)=2x2-3

® 4x-4=3x-4 @ 3(5-2x) =2(3x-5)
2(x+2)  5+4x
@ 3 6




@ -4Ax+9=9-4x

® 3x-2=5x+38

@ x2+5x+6=x>+1

® 2x? -7 =x(2x-3)

® x(2+x)=2(x+1)



© 2x+5

D x-x+1=0

@ 4-y=2y+1

-2

® 03x+1

@ 3x-1<2x




11, A 5x-8=2x+ 95 o1F2 o8t ax = p o] E= 1S o,
a+ b9 F&E Aokl (B, a®t b= AR AAS)

a'é“aer:i



A

4x—-5=2-6x

@ 20 ® 30 @ 56 ® 70

O 12



13. 4 ~4x - 18 = 2(5 - 6x) - 32 Ol Fso] ax = b o] B2 THS
o, a - b2 g Fatodel. (F, a2t bE 229 AAS)

a'ﬁia—bzi



14. 9984 ax =0 E2 2FS W, a+ b H27 (T, atbe

@ 17 @ 21 ® 28 @ 31 ® 35



15. the % QAP Al obd A9

D 3x-2=x+7 @ x-9=18+x
@ 4x-2=5-4x @ x2-3x=x*-9

® 5x-17=0



O 4x+5=9 O x*+4=5x-1
© 6x—-9=9+6x ® x-1=-x+3
@ 3x-7=3(x+2) ® 5x+ 2 =6x
® 9,00 @ 9,0,6 ® 9,60

@ 9,6,e ® 0,6,



17. thg % QgL

@® bx-7

@ ¥ —dx=x>+3x-1
® 3x-2=3(x+5)

@ 2x—4=2(x-2)

® 3(x-2)+x+1=2(2x+3)



@ Tx—-2x=3x

@ 3x2-4=3(x*-x)+2

@ 4(x-2)-x+5

® x2-2x4+1=0



19. ©hg 3 0457k 1 A QYR

@O -2x=3+2(x-1) @ x>-4x=5
® T7T-x=4x+y+3 @ 3(x-2)=3x-6

® x+5=x



20.

o

Jg/J

~ 2x
12142 7

R Eiatb

5x+y o BIA A a M, x+3=5x-79
p Ao at b o) S Folol

3:
AL
T

d



@ 3(1-x)-3x=0
@ 24+ x-2x2=1-2x2

® x+24+4=x+6

@ 4x+8 =8+ 4x

@ 4 =3x+ 4x2



42-3x)=ax+6

@ a+-6 ® az0

D a=#-12

a

@ a=14



23. the % LAl obd ALY

O x+6=2x-7+x @ 4(x+3)=12
@ x-2(x+1)=1-x @ x-1=-x+1

® x(x-5)=10x+x>+1



24. e F AAPHHA A4S ®

@ 3x-5=x+5
O x¥®*+2x+1=0
© 10-7x=10

® 4(x-3)=-12+4x

@ —x24+2x-T7=x+ x>

D R
3%
5 R

c



25.

4x-3(1-ax) = -5+ 7x 7Fx ol &
a o] 277

Da=1 @ a=3

@ a#-1 ® a+3

)

o

SF Az Alo] ©]7] 9]

® a#l



5(3—ax) —7x = 8x— b 7} x o Wt AAFA o] H7] gt 27

o o 1
o

Da=-3 @ a#-3 ® b=-15
@ a#-15 ® b#-3



